=7
B |C|D|E
-1 011

@ V3 035 @vz  O4

— — 2 2 2
(2°+ (D) + 2417 4414441 10,00
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=< A,B,C,D,E 57 S E0°] 7k 1 Ql&= L E A4+E Ve
Zlolt}, o] uf, 5 o] Z7HA| Al Q)= L E A4o] BAR2?
SHAY A| B|C|D|E
wa(A) | -3 -1]2]x]2
® 3.1 @ 3.2 ® 3.5 @3.6 ® 3.8
Hape] g2 pol2 g2
3+ (-1)+2+x+2=
x=20
PO (=3)> + (-1)> +22 4+ 0422

5

5




3. Tk A7 @ FIA AP 2 e

@ sin0° @ cos30° @ cos45°
@ sin 30° (@)tan 45°

B

@ sin0° =0
3
@cos30°=‘/7_
1 V2
® cosdh’ = — = —
V22
1
in30° = =
@ sin 5
® tan45° =1




4.

25in45°cos45° + cos 30 °sin 30° 9] ZH-2?

V2 V3
®1+? @1—#7\/_
@2+ ®2+%

® 2+

V2

2sin 45 ° cos 45 ° 4+ cos 30 ° sin 30 °
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[
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&
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5.

ths 1¥-olA PA, PB= 9 0 9 &

Adofrt. o] mj, x of k27

@9 @ 10 @ 11

@12 ® 13

B

PA=PB

AO =50°]E2 PO =13
LA =90° 0|22
PA=V132-52=12

~PB=12




2 1o PA, PBE= Y0 9 H A
Aolct, o] wf, xy o] 72 g

@ 33 @ 40 ® 45

@ 50 @55

B ‘

AP=BP =x
8% =32+ x?
x=VB5=y

s xy = Vb5 x V55 =55




® 242cm
® 4vV3cm

@D 2cm

@ 4cm

OA=2cm,OT =1cm
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Il e
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@ 4cem @ 6cm
@ 6v2cm ® 6vV3cm

BD = V52 - 32 = 4(cm)

~AB=2BD =4x2=28(cm)
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9. t}S TFJA 5.0ptAC = 2em , 5.0ptBD = dem , /B = 20° 2 T,
(APC 9] 27|=?

@® 30° @ 40° ® 50° @60° ® 70°

A — \
5.0ptAC : 5.0ptBD = /ABC : /BCD
2:4=20°:/BCD
- /BCD = 40°
. /APC = /PBC + /PCB = 20° + 40° = 60°




10. & T 2ol 91 0 o AsH AABC SIA] ZAOB : BOC -
/COA=6:5:4¢ 0, /B9 7=

A

Y

@48° @ 52° ® 63° @ 68° ® 79°

B ‘

4
(B o] TAZHE /COA = 360° x —= 06°

. /B = 96° x % — 48°




11.

o5 23 Zo] BA L] Aol7} 6em ¢ D
2o A AB,BF 9] S3o] 22 M,N < ), !
ACNM €] o] &? A
I\
[}
Lo N
AN
E F
2 27T 2
® 27V1lem @ S om ® 54V1lem
@ 54+5cm? ® 27+V5cm?

~&B

ACNM & CM = CN ¢l o]5 ¥zt o|th,
CM = V62 + 32 = V45 =35
MN = V32132 =342

. (ACNM 9] &o]) = \/(3\/3)2 B (%ﬁ)

18 162

(/45— — =/ —

T 4
‘/_

9v2

2

- (ACNM ] H0])= 33 x %ﬁ x % _ 2?7(cm2)




12.

OAEGT ¢] §ol=?

@ 16cm? )18 cm?

@ 22cm? ® 24cm?

~&B

A D
NI --/|\
| - \
A-
= ';‘\\ C 3\/§Cm
[ |
|
E_ Mok
/7 N\ \ )
. ,
it N /4cm
~4em--"G
® 20cm?

EG = 4V2cm
AT =2+2cm
DAEGI &= A2 &ol B2

wol= % X (2V2 4+ 4V2) x 3V2 = 18(cm?) o]t}




13. o= I3} ol ’IAF

9] Zol7k1 9 AHRo] k. B F

L7
(2, 6 = oz}
E
/( C
1
\ 4 R
A B D
@ sinf = BC @ cosd = AB

(@)sin 6 = cos

@ sinf < tand

==

B

il

® tan6 = DE

B

BC .
sinf = :C =BC(-AC=1)°|1
AC
BC < DE ©|2& sinf < tan 6

AADE 1A tang = % _DE(-AD=1)




14. o3 I3 o] HugH 919 98 0 & STHLRE ot vix]&9]
Z10]7} 1 ¢l AR A] sin 50° + tan 50° — sin 40° 2] ZH-&?

Yy
1.20 ¢
1
A
0.77
50° B D
¢ 0.64 1 =z

O 0.21 @ 0.64 ® 1.07 @1.33 ® 2.61

0.774+1.20 — 0.64 = 1.33




thE 1E 3 2ol AlA|S] 71 B A B A F AbelE 4T Fe
2 ZZo|1 gtt. 39| Aol 30cm ©]1, /BOA = /AOB’ = 45°,

/BOB = 90° o]t. 7} 71 & 91710 S W, = A AL

71502 st W em 9 Eolof =71

15.

@15(2— V2)em @ 20(2 - V2)ecm ® 25(2 - V2)em
@ 30(2- V2)em  ® 35(2- V2)em

A B oA OA o Yl =41e] & C 2t 5t
0C 0C Vi .
40:::_:_ _ 8
cos 45 55 30 5 ,0C = 15v2cm o]t}
wtet] AC = OA - OC
=30-15V2

=15(2 - V2)em ]t}




16. T T3 Zo] 9A 5] dol7} 30m 91 A O of Pshe B 47t

—

gel olg Fohm?

D 1350 cm? @ 1350 V2 cm? @1350 V3 cm?

@ 2700 cm? ® 2700 V2 cm?

%x30x30xsin60°x6
V3

1
=-Xx30x30Xx — X6
2 2

= 1350 V3 (cm?)

VA
\"7

C—D




@® 110° @ 120° ® 130° @ 140°

B

() 150°

(DEC = x 2} 5}

(DABCD9] Ho]) = % X a X bxsin(180° — x)
1
= Zab
. 1
sin(180° — x) = 3

180° — x = 30°, x = 150°




18. o3 179 AABC oA A B: C = A
3:4:50°]2 ¥ 0 9 vAFe] Zo|7}
24cm @ Wi, AABC 9] Hol=?

©) 264(2+«/'

)
()144 (3+ V3)
® 149 (2+ V2)
)
)

B
@ 288(2+\/§
288(3+\/_

B

/A:/B:/C=3:4:50]B2

/BOC = 90°, /AOC = 120°, /AOB = 150°
(AABC2] Hol)

= AAOB + ABOC + AAOC

1 1
= 5 X 247 xsin (180° ~ 150°) + 5 X 247 X sin 90°

1
+ 5 x 247 x sin (180° - 120°)

1
=5 242 x (sin 30° + sin 90° + sin 60°)

1 ., (1 V3
==— — 1 —
2><24 ><<2+ +2)

=144 (3 + V3) (cm?)




